Algebra 2







Name: _________________________
Unit 8, Part 2, Day 7






Date: ______________ Period: _____
Name Trig Equations Given Graph And Applications
	1.  For each graph, give a sine and cosine name.  
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	2. The average temperature in San Diego ranges from about 56°F in January to 72°F in July. This pattern of temperature fluctuations repeats after a period of 12 months. It can be modeled using a sine or cosine function.

a) Graph the data comparing the month versus temperature. Start the data with January as month zero. 



	b) Identify the following:

line of equilibrium:
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vertical shift:

phase shift:
	c) Write a cosine function that models the situation.


	d) Write a sine function that models the situation.



	e) What is the predicted average temperature in November?


	f) The Smith family will visit San Diego in 18 weeks from New Year’s Day. What will the anticipated temperature be at that time?


	3. Sketch one period for the following functions. Be sure to scale and label the axes. Use radian measure.
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	4. Solve for all values of (  between 
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.  Hint:  Use the zero product property to solve for (. Rewrite the equation in terms of the trig ratio, then find the values for ( .  Draw sketches.
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